Foundations of Combinatorics with Applications errata as of 11/8/2006
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The right side of the flrst displayed equation in Exercise 4.1.10 contains \§" which should be \S5".
Line 3 of Exercise 5.5.6 should start \letting {u, v}", not \letting {v, w}".

The next to last line has a plus sign missing in front of the second 2z. It should read
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The first line of the second paragraph contains \unlabeled™ twice. Remove one occurrence of \unla-
beled".
Exercise 10.4.14(c) should ask for a,,, not s,.

It would be good to mention that Example 11.3 relates to the Catalan numbers. (See the index and
Example 1.13 on page 15.)



